
1

2
3

4 5

6

78

9
10

11

12
13 14

15

16

1718
20

21

19

22

23

24

25

26
27

28

29

Section 2
368 G

rinder

368 Grinder

Lister Shearing Equipment Ltd, Dursley, Gloucestershire www.lister-shearing.com+44 (0) 1453 544 832



Section 2
368 G

rinder

368 Grinder
Item ItemPart No. Part No.Description Description

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24

25
26
27
28
29

233-11260
272-00003
233-11140
233-11420
233-11130
233-11411
289-14820
233-11610
233-10370
233-11400
233-10550
233-10410
233-11550
233-10260

233-11630
233-11590
233-11620
233-10340
233-11050
233-11540
233-11110
233-10330

233-10340
233-11640
233-11420
233-11150
233-11170

Grinder Base
Nut M8
Spring Washer M8
Washer M8
Screw M8 x 25mm
Motor 240V (includes items 15 & 16)

Mains Lead UK
Spacer
Clip
Back Guard
Foam Tape
Rubber for Wing Stud
Wing Stud
Front Guard
Spindle Nut LH 1”
Spindle Nut RH 1”
Spindle Washer
Grinder Disc
Screw M5 x 35mm
Spring Washer M5
Top Hook
Disc Washer
Hook Stand
Nut M5

Spring Washer M5
Strap
Washer M5
Screw M5 x 12mm
Nut M12

Lister Shearing Equipment Ltd, Dursley, Gloucestershire www.lister-shearing.com+44 (0) 1453 544 832


